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3.1.2

3a (Amp nxpn) > 4b (Ampy j917)

note #1: an 70N is generally reckoned to be 6 onov (a nov is 3-4 inches); however, due to the inexactness of the
measurement, we always contract or expand 8915

note #2: the 77 prohibits planting within a 015. A 075 is defined as (at least) five vines, with a space of 11X 7 between
them. An open area within or on the edge of the 073, may be an area where it is permissible to plant depending on its size.
note #3: an unacceptable covering for a 71210 does not invalidate a 71310 up to mwr 71— if is attached to a wall — we regard
it as a “bent wall” (7017Y 1917). It is not permissible to reside under that “wall”.

note #4: we ignore a distance of less than p’nov 2 between walls — this is known as 7125,

note #5: any wall that is o19v » high. We consider it to extend as high as needed; this is known as Xn¥np o8 I,
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I.  Discussion: 790/Man is within 20 but part of the 720/nMp extends above
a. 727(1s version): invalid for a n:1o, but valid for a nan
i. Explanation for distinction: for nan, we imagine the excess to be cut off
ii. Challenge: why not imagine excess 720 to be cut off?
1. Answer: if we imagine it gone, there is more sun than shade in N
2. Block: in nan, if we imagine part of n71p gone, what remains may be blown away — %108
3. Rather: we must imagine remaining part to be like solid metal skewers
4. Response: if so, consider remaining 700 provides enough shade and nnnnn nnn nnby
iii.  A%77r799 K27 120 can be used by individual, will not notice/repair; n1an used by public
iv. 42227 Manis 11277, we are lenient; N2 is v, we are stringent
b. 737(2" version): invalid for a »an, but valid for a 310
i. Explanation for distinction: for n210, we imagine the excess to be cut off
ii. Challenge: why not imagine excess of nMp to be cut off and we have n1a nbv2n NP (5109)
1. Defense: must regard n>1v as having more shade nonetheless
2. Block: if so, we must regard remaining n1p as being like metal skewers
i.  ayprri9p 837 N0 is used by individual, he takes responsibility to notice
1. However: "an is public, each relies on the other (»amw »a71 n77p...)
ii.  A22371an is 13277, requires ;rN; 120, which is n"nn, requires no “support” >9'pn
c.  Final ruling: ®% "1 91 N1 — both 0*%109; ®11 — both 0w
i. Reason (for ¥27's ruling): law addresses empty space — cannot be more than 20 from ground up
ii. Support (97): ruling compares open space of »an to that of 93>n (which was 20 mnr air space)
iii. Challenge (to 827): R:R P2y RNavIN — diminish over-high nan by putting np from 20 “nonY”
1. Answer: "non%” :: "nYynd”; just as non? requires v™ of airspace, so NYYnY (20 MnR of Y5n)
II. Discussion: size of nnr (dispute X17/72R as to 3"1’s ruling) (see note #1)
a.  23ax nan and 190 — 5 DRav;D7I — 6 DNYY
i.  712p: for height and width of »nan all xamn%
1. Challenge: we require "1 of entrance to nan — if it is a “small nnR”, this is a R%p
2. Answer: »aR reads that rule as omav '7;
3. Or: he meant that most of the mnx-measures in a »an are 5 DAY
ii. /1910 for height and nmpy 1971
1. Challenge: »31 requires 8”1 of width inside n21o —if it is a “small nnR”, this is a X9p
2. Answer: »R holds like 1327, who require n:10 be big enough for head, body and table
3. Or: even if he holds like 37, he meant “most mnR of the N30 are V"
iii. 72 6 DNAY — for DIIN NNIPY LINN (R:T DIRYD — viz. note#2) empty spaces amid / around the 01>
1. Challenge: in 2:0 DR, v™ rules that if vines are planted with 8”7 of others — not 01>
2. Answer: »R holds like n'nan (ibid) who reckon it a D72
3. Or: even if he holds like ", he means that most of the mnX in a D73 are nMav "y
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b.  x27 all mnR are 6 DNAY; some ("MANXY”) exact (e.g. an) and others (e.g. 013) with some excess ("Mpmv”)
i. Challenge: xna records that all mnR are 6 0'nav; as long as they are not exact
1. ~a7is supported by this xn»a
2. »an points to R0 — 3"2v1 holds that 0&3 nnR (only) is 6 (but not exact)
a.  Challenge: this implies that 'non meant all mnx to be 6
b.  »ax: holds like 32w
3. Note: »ar must agree that his position is subject to dispute (3"2v7/0n31)
4. a7 must his position also be disputed? (contra 3"aw7)
a. Answer: perhaps 3"aw1 is teaching that 0’x%> nnx should be “generous”
b.  Question: if so, why does he add “nww na nnra”?
i. Answer: not to exclude n301 nan, rather — 797 NR and 2210 NNR (v. 1)
III. 29: all oMYV, rules of n¥'s¥n and size of M¥NN are NN
a. Challenge: v. 2 teaches us mMyw
i. 7vm per v:» DY —amount of time spent in YN 1 for clothes he is wearing to become nRNY
1. 7w enough to time to eat half of a loaf of wheat bread properly
ii. 77w per x:1 MYNR — minimal 1YW of NN NRMY of a bone — like barleycorn (WM Yan — not HnR)
iii.  7ox MYV for violation of drinking wine by a 1 (my’17)
iv.  mwm v of carrying food items on naw (for 2vn) — N
v. T Y of a hole in a non-artisan’s vessel which renders it no longer Xnv ()17 R¥¥INI)
vi. fr. most of the oYW are m
vil. 27 (date): size of a thick date (noan namad) for liability on 5"nv
b. Answer: these 1w aren’t written — rather, they are n”n%n and this p0a operates as Xnanor
c.  pwyn(for 7223v): this is Rn»IRT, per v. 3 — 17w Y2 means that nothing can block the water from his flesh
i. Amount: 1 nnR x 1 nnR x 3 mnr 240 nro
ii. Defense: n"non needed for 1yw
1. Per: X130 '3 92 N1 — if one hair is tied, it is nx'¥n; 3 are not; 2 are unclear
2. Challenge: 7w is also Rn»7IRT — per 17w 93" — extending to hair
iii. Rather: n"n%n needed for VYN/217 and Tapn 1WR/TaApN, per PNy 7
1. pny 7. n"nn, if something covers a majority of body and he is 1apn on it — nx»¥n
a. a7 extended it to T9pn 1RW 17 and Tapnn VIYN
b.  But not: to Tapn 1wRY VYN (as that would be nny nn)
d. mynp: are also Rn»RT (inferred from PR — 9 omav+1 nav of nMad = 10 oMav)
i. Needed for: nmi "7, who holds that in w1pn, structural mnx were 6 but 0’95 were nnk of 5 nav
1. Therefore: IR was only 7.5 nmav
ii. Even: n"™ who holds that all mnx were “average” (6 n’nav) — needed for T ,12% and nmpy 1917
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